EARAROBEEIERT — 2 N— IBISH —F

201853/ 1H (K) 13El/1IIE4H

Bl=%%7 B1=82— v5%#&

‘ [R1%] & ‘ [REBE] — | & (£) 16000 FE

[A&4£] 1 7% :3,000,000 @ 23 :1,050,000 @ 33 :600,000 4 3% :450,000 @ . 5 7 :300,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N - EFREA 144, —4-4- . — ARz (&
ol Er s 6 ER 1(4_4)3 4-4-4-3 | 41.4 3 (5_037) Eatt
L:¥rsn7AA By 7LV TX =]
S 4 5 | EBIKH 1:45.0 5-5-5-4 | 41.7| — 1 549 | NIBE— (#A18)
2|5/8|HYA =LA 55.0 @ Cay | BB
A:Unbridled’s Song B:L—J K712 FHE%E
= AHES 145, ~7-7- . — FEEEN (MHE)
] sl55vy H 6 xe 1(415>2 7-7-7-6 | 41.2 7 ;1_427) ﬁﬂaﬂzﬁ
L:d—IKR7Y2—)b B:Ov>iI— (B) #BA3—-RKL—va>AaE77
— . BHEAH : -3-1- — HFEZFE (KH)
4 4| FATI—— 5 . 1(.;/54.)3 3-3-1-1 | 42.5 2 :?g) %%%
Liv>NyahTz BiA—-3F HBET7— L4
st 7 | BBXS 1:45.7 8-8-10-8 | 41.5| — 6 478 | Wit (J11i6)
5 o | B/ RY T 57.0 @ 7 | (B NOKKN
L:¥rs07aA BioA TaTFH HE Rk
‘— 4 5 | )3 1:46.0 12-11-11-10| 41.4 | — 11 452 | EMIEE (#A18)
61712 A—=IN—=TIJb— LA 53.0 A 1/2) (-3) #8) M5
R:xA21=ZGr7—R B:NFTy IR HE ik
SN SEER : -9-0- — IWEE (1
7 ol ¥xrFLY ok i o6 i (11416/22> 9-9-9-8 | 41.9 4 (5_216) eyl
LiAREXRY BAATIESS RHERS
= 5 4 6 | Ak 1:46.3 11-12-13-13| 41.4 | — 9 467 | REEE (H13)
881477747FU_ 55.0 (172) (-7) | BRFIEL )
R:bhIA4=Z2d B:ISEVILT BRYS
N N SEHEfE— 1:46. 10-9-8-11 | 42. - 4 1EREEZ (HE)
9 9| A vILA "8 (,\%3 0os 0 ’ (_525) (#) 1525
LTV FFE2T BNy aFLFgrR BTy ]
S i 8 | FHEE 1:46.5 1-1-1-1 | 43.8| — 10 | 474 |H&EFMS ()W)
10 6 I—-JVRZ>Ia 55.0 (3/4) ) FImEE
LA agR—5— B:T7 ET7IAFa— FEEAUS
o s, _ 3 = > 6 | FERA 1:46.8 13-13-12-12| 41.9 | — 12 | 531 | WEHE (&)
1 2 R E N 7 550 (1 1/2) (1g) | KRR
g7y —3I0T7> BTHYT XT3t — REHHE
“ . =AM .46, WP . — EEHSE (A
15| 7| 7LNN=NAHZ "0RD 1(5146%? oo e ° ff) EHES
&2:Stormy Atlantic B:7IL >y~ #RAEHE IVFCTr—L
RS i 6 | BEF 1:47.4 2-2-1-5 | 44.6| — 5 468 | NARE ()
13[1]1|FAEZ v RTA b 85.0 3 s | B EvTLyETr-n
RixAL1=ZTr7—R BibL—=2F4 =T X [ESiie ]
= s 4 | HEARE = = = = = — |EAAZ ()
xx| 813 ¥aIqA4 KR>3 H 55.0 () - HhES %
2L LINT Ry 7R B:SEyY hR-X A w2
® 1—F—@EBIERL
13=2F= 6,1,4,11,8,7,3,2,10,9,14,12,5
2o=5"= 6,1,4,11,8,7,3,2,(9,10),12,14,5
Jol=5r= (1,4,6),11,8,7,3,9,10,2,12,5,14
AT =5F= (4,6),11,8,1,3,7,(2,10),12,9,5,14
[ N5
B 1" 450M 714K 8-11 290M e E 5-7 690 JEE 3-8-11 2,460/
B B 1 140M 3-11 1,070H e B =5 1,500 3EE 11-8-3 9,910
8 1504 3-8 910M B & 8-11 640M
8 260M B H 11-8 1,450

ABICOVWTRDTEEERROODE. TR LIV,




